A6 9A 1 HEE (o Ad : HRADA)

KM 4 TR [ |5 (A) | i (& (B) | 8 | EF(A+B) | 3R
T 2,478 0 2,749 0 2,821 6 5,570 6
T —TH 974 -3 893 1 778 —4 1,671 -3
PR — T H 578 2 542 2 556 -2 1,098 0
e =T H 632 -5 681 —4 645 1 1,326 -5
JHTHTY T H 475 -2 491 -3 512 2 1,003 -1
4R T H 336 -1 353 -9 323 0 676 -2
JHPTHT ST H 307 3 367 1 384 0 751 1
Lo HT 206 -1 202 -1 210 0 412 -1
=a 381 0 444 -1 452 1 896 0
T H 1,909 -3 1,972 —4 2,019 2 3,991 -2
PIHTHT 330 -2 328 -1 316 -2 644 -3
Hh T H 918 -5 985 ) 948 -1 1,933 -3
HT—TH 281 0 345 0 394 0 739 0
R T H 329 2 414 1 427 -2 841 -1
HHT =T H 478 -1 650 -2 623 -3 1,273 -5
BT B 296 -1 393 -1 388 0 781 -1
A 233 3 259 6 250 4 509 10
] = 290 0 345 -3 327 1 672 )
— K 447 1 450 0 455 -5 905 -5
— YV AREH—TH 0 0 0 0 0 0 0 0
=YAREMTTH 32 0 42 0 43 0 85 0
GIEL 108 0 121 0 117 -1 238 -1
— Y KHH 5 0 5 0 5 0 10 0
NH 4 680 1 850 1 848 -2 1, 698 -1
R4 4, 547 5 4, 786 -1 4, 980 2 9, 766 1
IR 4, 669 12 4, 452 -4 4,518 -1 8, 970 -5
E A 1, 404 -1 1, 484 -1 1,527 3 3,011 2
=5 H 5 0 7 0 6 0 13 0
EtR—TH 908 -1 751 —7 911 -2 1, 662 -9
=LA _TH 1,110 1 1, 057 -1 1,124 -2 2,181 -3
BH5+HR=TH 844 -1 761 ) 830 0 1,591 -2
= LRIUTH 709 5 684 2 709 1 1,393 3
ELtRATH 708 -1 739 -3 662 0 1,401 -3
& LR TH 0 0 0 0 0 0 0 0
T 4 1,870 -3 1, 877 0 1,775 -1 3, 652 -1
sy Fe—T1H 284 1 287 0 296 3 583 3
iy e T H 240 2 248 3 246 0 494 3
iy =T H 436 2 431 -2 449 2 880 0
ks VU T H 681 -3 656 -1 708 -1 1, 364 -2
iy B T H 419 0 474 ) 491 -1 965 -3
mEiT—TH 257 0 297 -2 330 0 627 -2
FAET — T H 575 -2 562 1 604 -2 1, 166 -1
FEET =T H 191 -1 181 -1 232 -3 413 -4
=t 32, 560 3 33,615 -33 34, 239 -9 67, 854 —42
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